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E>FV4?L=>-?>5GF>64 V=DD4EFDG>FGD4, >V?L>VEFL <VEFL G 
7GDF>6<F>4E 6V4?>6V44T 6<<>74< F4 ?>FD55V.  
�?O ?D>6545==O 4>E?V465=L VE=GT =46G4?L=>-=4G>>6>-
?D4>F<G=<= F5=FD F4 =4G>>6<= ?4D> «�7D>?5DE?5>F<64», 
=4G>>6>->E6VF=L>-6<D>5=<G<= >>=E>DFVG< «�V645==<=», 
=4G>>6<= V=EF<FGF V==>64FV==<E F5E=>?>7V= V 7<VEFG 
47D4D=>W >E6VF<, =4G>>6>-4>E?V4=<= V=EF<FGF =>6<E 
47D>?D><<E?>6<E >59T>FV6 F4 =46G4?L=>-V=D>D<4FV==<E 
F5E=>?>7V=, =4G>>6>-4>E?V4=<= V=EF<FGF EGG4E=<E 
F5E=>?>7V= 6 ���, 25-F< ?D>5?5<=<E ?45>D4F>DV= ���'. 

�=D>D<4FV==5 F4 
=46G4?L=>-
<5F>4<G=5 
74557?5G5==O 

�DVFV==<= 655-E4=F ���' <VEF<FL V=D>D<4FVN ?D> 
>E6VF=V ?D>7D4<<, =46G4?L=G, =4G>>6G F4 6<E>6=G 
4VO?L=VEFL, EFDG>FGD=V ?V4D>74V?<, ?D46<?4 ?D<=><G, 
>>=F4>F<. 
�EV D5EGDE< 5V5?V>F5>< ���' 4>EFG?=V G5D57 E4=F 
G=V65DE<F5FG F4 E4=F 5V5?V>F5>< ���', 76<G4==<= F4 
5?5>FD>==<= G<F4?L=V 74?< 5V5?V>F5>< ���' 74557?5G5=V 
5574D>F>6<< 4>EFG?>< 4> <5D56V �=F5D=5F. &4>>6 
74>5G64GV 6<M>W >E6VF< <4NFL 6V?L=<= 4>EFG? 4> 
D5?>7<F4DVN ���'. 
�EV >><?>=5=F< 44=>W >E6VF=L>W ?D>7D4<< 74557?5G5=V 
=46G4?L=>-<5F>4<G=<<< 6<44==O<< F4 D>7D>5>4<< 
>4D54D, M> 74V=E=NNFL ?V47>F>6>G 74>5G64GV6 6<M>W 
>E6VF< 74 E?5FV4?L=VEFN 204 «&5E=>?>7VO 6<D>5=<FF64 V 
?5D5D>5>< ?D>4G>FVW F64D<==<FF64» >E6VF=L>7> EFG?5=O 
«<>?>4L<= 54>4?46D», T G 6V?L=><G 4>EFG?V  G O>>EFV 
D5EGDEV6 5V5?V>F5>< ���'. 

10 3 �>445<VG=4 <>5V?L=VEFL 

https://www.mnau.edu.ua/ua/02_01_05.html
https://www.mnau.edu.ua/ua/02_01_05.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_01.html
https://www.mnau.edu.ua/ua/02_01_02.html
https://www.mnau.edu.ua/ua/02_01_02.html
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�4FV>=4?L=4 
>D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EF>D>==VE 4>7>6>DV6 <V6 ���' F4 
�5D646=<< 5V>F5E=>?>7VG=<< G=V65DE<F5F><, =4G>>6>-
4>E?V4=<<< V=EF<FGF4<< ���� '>D4W=<: �=EF<FGF>< 
F64D<==<FF64 EF5?>6<E D4=>=V6 V<. �.$.�64=>64 "�E>4=VO-
�>64", �=EF<FGF>< D>76545==O V 75=5F<>< F64D<= V<. 
�.�.�G5FO, �=EF<FGF>< E6<=4DEF64 F4 ���, �=EF<FGF>< 
D<5=>7> 7>E?>44DEF64, �=EF<FGF>< F64D<==<FF64, 
�=EF<FGF>< 5V>?>7VW F64D<=. �>?GE>4NFLEO V=4<6V4G4?L=V 
G7>4< ?D> 4>445<VG=G <>5V?L=VEFL 4?O =46G4==O F4 
?D>6545==O 4>E?V465=L 6 G=V65DE<F5F4E F4 =4G>>6<E 
GEF4=>64E '>D4W=<. �> >5DV6=<FF64 =4G>>6>N D>5>F>N 
74>5G64GV6 6<M>W >E6VF< 74?GG4NFLEO ?D>6V4=V D4EV6FV 
G=V65DE<F5FV6 '>D4W=< =4 G<>64E V=4<6V4G4?L=<E 
4>7>6>DV6. 
�D54<F<, >FD<<4=V 6 V=L<E G=V65DE<F5F4E '>D4W=<, 
?5D574D4E>6GNFLEO 6V4?>6V4=> 4> 4>6V4>< ?D> 4>445<VG=G 
<>5V?L=VEFL. 

�V6=4D>4=4 
>D54<F=4 
<>5V?L=VEFL 

�4 >E=>6V 46>EEF>D>==VE 4>7>6>DV6 <V6 ���' F4 6<M<<< 
=46G4?L=<<< 74>?444<< 74DG5V6=<E >D4W=-?4DF=5DV6: 
�5D646=<< 47D4D=<< G=V65DE<F5F>< (�>?4>64), 
&4L>5=FEL><< 45D646=<< 47D4D=<< G=V65DE<F5F>< 
('755><EF4=), &>D4=7<D>6 G=V65DE<F5F>< ($5E?G5?V>4  
�474EEF4=) F>M>. 

�46G4==O 
V=>75<=<E 
74>5G64GV6 6<M>W 
>E6VF< 

�V4EGF=T, D47>< 7 F<< 4>76>?5=5 74 44=>N >E6VF=L>-
?D>D5EV==>N ?D>7D4<>N. 

 
 

2. �5D5?V> >><?>=5=F >E6VF=L>-?D>D5EV==>W ?D>7D4<< ?>G4F>>6>7> 
(>>D>F><= F<>?) DV6=O 6<M>W >E6VF< 7V E?5FV4?L=>EFV 

204 «&5E=>?>7VO 6<D>5=<FF64 V ?5D5D>5>< ?D>4G>FVW F64D<==<FF64»  
F4 WE ?>7VG=4 ?>E?V4>6=VEFL 

2.1. �5D5?V> >><?>=5=F >E6VF=L>W ?D>7D4<< 

�>4 =/4 �><?>=5=F< >E6VF=L>W ?D>7D4<< 
�V?L>VEFL 
>D54<FV6 

$>D<4 
?V4EG<>>6>7> 

>>=FD>?N 
�5>69O7>>6V >><?>=5=F< >E6VF=L>W ?D>7D4<< 

�<EF<??V=< F<>?G 7474?L=>W ?V47>F>6>< 
�� 1. �EF>DVO F4 5F=>>G?LFGD4 '>D4W=< 3,0 �4?V>, 

5>74<5=  
�� 2. '>D4W=EL>4 <>64 (74 ?D>D. E?DO<G64==O<) 3,0 �>74<5=  
�� 3.  �=>75<=4 <>64 (74 ?D>D. E?DO<G64==O<) 3,0 �4?V>, 

5>74<5=  
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�� 4. $V?>E>DVO (5F<>4, ?>7V>4, DV?>E>DVO, 

D5?V7VT7=46EF6>) 2,0 �4?V>, 
5>74<5=  

�� 5. �<M4 <4F5<4F<>4 4,0 �4?V>, 
5>74<5=  

�� 6. �V>DV7<>4 5,0 �>74<5=  
�� 7.  �5>D74=VG=4 F4 4=4?VF<G=4 EV<VO 4,0 �>74<5=  
�� 8. �D74=VG=4 EV<VO 4,0 �>74<5=  
�� 9. �V>?>7VG=4, DV7<G=4 F4 >>?>W4=4 EV<VO 4,0 �>74<5=  
�� 10. �>DD>?>7VO F64D<= 4,0 �>74<5=  
�� 11. $V7V>?>7VO F64D<= 5,0 �4?V>, 

5>74<5=  
�� 12. �5=5F<>4 7 5V><5FDVTN 6,0 �4?V>, 

5>74<5=  
�� 13. �4D<E=4 75><5FDVO F4 ?D>5>FG64==O V 

5G4V6=<FF6> ?V4?D<T<EF6 7 6<D>5=<FF64 = 
?5D5D>5>< ?D>4G>FVW F64D<==<FF64 

4,0 
�GDE>6<= 

?D>5>F, 74?V>, 
5>74<5=  

�EL>7> 74 F<>?>< 51,0 × 
�<EF<??V=< F<>?G ?D>D5EV==>W F4 ?D4>F<G=>W ?V47>F>6>< 

�� 14. �E=>6< D4E>6>W 4VO?L=>EFV 3,0 �4?V>  
�� 15. &5E=>?>7VO 6V4F6>D5==O F64D<= 6,0 �>74<5=  
�� 16. �>4V6?O F64D<= V F5E=>?>7VO >>D<V6 4,0 �4?V>  
�� 17. $>76545==O F64D<= 3,0 �4?V> 
�� 18. �V7VT=4 F64D<= 4,0 �4?V> 
�� 19. �4L<=< V <5E4=V7<< 6<D>5=<G<E ?D>F5EV6 

G F64D<==<FF6V F4 ?5D5D>5=V= 
?D><<E?>6>EFV 

3,0 
�GDE>6<= 
?D>5>F, 
5>74<5=  

�� 20. �E=>6< F64D<==<FF64 V ?5D5D>5>< =>7> 
?D>4G>FVW 3,0 �>74<5=  

�� 21. �46G4?L=4 ?D4>F<>4: &5E=>?>7VO 
6<D>5=<FF64 D>E?<==<E >>D<V6 (&5E=>?>7VO 
6<D>5=<FF64 D>E?<==<E >>D<V6) 

1,0 
�4?V>  

�� 22. �46G4?L=4 ?D4>F<>4: &5E=>?>7VO 
6<D>5=<FF64 <>?>>4 V O?>6<G<=< 
(&5E=>?>7VO 6<D>5=<FF64 <>?>>4 V 
O?>6<G<=<) 

1,0 

�4?V>  

�� 23. �46G4?L=4 ?D4>F<>4: &5E=>?>7VO 
6<D>5=<FF64 ?D>4G>FVW ?F4EV6=<FF64 
(&5E=>?>7VO 6<D>5=<FF64 ?D>4G>FVW 
?F4EV6=<FF64) 

1,0 

�4?V>  

�� 24. �46G4?L=4 ?D4>F<>4: &5E=>?>7VO 
6<D>5=<FF64 E6<=<=< F4 ?D>4G>FVW 
6V6G4DEF64 = >>7V6=<FF64 (&5E=>?>7VO 
6<D>5=<FF64 E6<=<=<;  &5E=>?>7VO 
6<D>5=<FF64 ?D>4G>FVW 6V6G4DEF64 = 

1,0 

�4?V>  
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>>7V6=<FF64) 

�� 25. �46G4?L=4 ?D4>F<>4: �>4V6?O F64D<= V 
F5E=>?>7VO >>D<V6 (�>4V6?O F64D<= V 
F5E=>?>7VO >>D<V6) 

1,0 
�4?V>  

�� 26. �46G4?L=4 ?D4>F<>4: $>76545==O F64D<= 
($>76545==O F64D<=) 1,0 �4?V>  

�� 27. �46G4?L=4 ?D4>F<>4: &5E=>?>7VO 
6V4F6>D5==O F64D<= (&5E=>?>7VO 
6V4F6>D5==O F64D<=) 

1,0 
�4?V>  

�� 28. �46G4?L=4 ?D4>F<>4: �V7VT=4 F64D<= (�V7VT=4 
F64D<=) 1,0 �4?V>  

�� 29. �<D>5=<G4 (?D>D5EV==4) ?D4>F<>4: 
�474?L=>-F5E=>?>7VG=4 4,0 

�<D5D5=FV=>64=<=  
74?V>  

�� 30. �F5EF4FV==<= VE?<F  1,0 �>74<5= 

�EL>7> 74 F<>?>< 39,0 × 
�474?L=<= >5EO7 >5>69O7>>6<E >><?>=5=F 90,0 × 

�<5VD>>6V >><?>=5=F< >E6VF=L>W ?D>7D4<< 
�<EF<??V=< F<>?G 7474?L=>W ?V47>F>6>< 

�� 1. �<5VD>>64 4<EF<??V=4 1 4,0 �4?V>  
�� 2. �<5VD>>64 4<EF<??V=4 2 4,0 �4?V>  
�� 3. �<5VD>>64 4<EF<??V=4 3 3,0 �4?V>  
�� 4. �<5VD>>64 4<EF<??V=4 4 3,0 �4?V>  
�� 5. �<5VD>>64 4<EF<??V=4 5 4,0 �4?V>  
�EL>7>  74 F<>?>< 18,0 × 

�<EF<??V=< F<>?G ?D>D5EV==>W F4 ?D4>F<G=>W ?V47>F>6>< 
�� 6. �<5VD>>64 4<EF<??V=4 6 4,0 �4?V>  
�� 7. �<5VD>>64 4<EF<??V=4 7 4,0 �4?V>  
�� 8. �<5VD>>64 4<EF<??V=4 8 4,0 �4?V> 
�EL>7>  74 F<>?>< 12,0 × 
�474?L=<= >5EO7 6<5VD>>6<E >><?>=5=F 30,0 × 
�����,��� ��%/� �%��&�,�� �$��$��� 120,0 × 

 
2.2. %FDG>FGD=>-?>7VG=4 EE5<4 >E6VF=L>W ?D>7D4<< 

�<6G5==O >><?>=5=F >E6VF=L>-?D>D5EV==>W ?D>7D4<< ?>G4F>>6>7> 
(>>D>F><= F<>?) DV6=O 6<M>W >E6VF< 74 E?5FV4?L=VEFN 204 «&5E=>?>7VO 
6<D>5=<FF64 V ?5D5D>5>< ?D>4G>FVW F64D<==<FF64» 74?G7V 7=4=L 20 «�7D4D=V 
=4G>< F4 ?D>4>6>?LEF6>» 74V=E=NTFLEO G ?>E?V4>6=>EFV, O>4 ?D54EF46?5=4 =4 
D<EG=>G 1. 
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%5-
<5EFD 

�E6VF=V >><?>=5=F< 
�  

 
 
  

��  

���    

IV    

 
 

3. $>D<4 4F5EF4FVW 74>5G64GV6 6<M>W >E6VF< 
�F5EF4FVO 6<?GE>=<>V6 >E6VF=L>W ?D>7D4<< ?>G4F>>6>7> (>>D>F><= F<>?) 

DV6=O 6<M>W >E6VF< 74 E?5FV4?L=VEFN 204 «&5E=>?>7VO 6<D>5=<FF64 V ?5D5D>5>< 
?D>4G>FVW F64D<==<FF64» ?D>6>4<FLEO G D>D<V ?G5?VG=>7> 4F5EF4FV==>7> VE?<FG 
F4 7465DLGTFLEO 6<44G5N 4>>G<5=FG 6EF4=>6?5=>7> 7D47>4 (4<??><G) ?D> 
?D<EG465==O =><G EFG?5=O <>?>4L>7> 54>4?46D4 V7 ?D<E6>T==O< >64?VDV>4FVW: 
«�>?>4L<= 54>4?46D 7 F5E=>?>7VW 6<D>5=<FF64 V ?5D5D>5>< ?D>4G>FVW 
F64D<==<FF64». 

�5D646=4 4F5EF4FVO 74V=E=NTFLEO 6V4>D<F> V ?G5?VG=> G D>D<V VE?<FG. 
 

�� 1 

�� 4 

�� 5 

�� 15 

�� 1 

�� 29 �� 16 �� 13 

�� 30 

�� 9 

�� 3 

�� 5 

�� 6 

�� 2 

�� 24 �� 12 �� 8 �� 11 

�� 7 �� 4 

�� 23 

�� 10 �� 14 �� 3 

�� 1 

�� 7 

�� 1 

�� 22 

�� 3 

�� 3 �� 20 �� 4 

�� 1 
 

�� 21 

�� 13 

�� 1 

�� 3 

�� 2 

�� 6 

�� 8 

�� 11 �� 12 

�� 19 

�� 18 �� 17 �� 25 �� 27 �� 26 �� 28 



&45?<FO 1 
�4FD<FO 6V4?>6V4=>EFV 6<7=4G5=<E �E6VF=L>N ?D>7D4<>N >><?5F5=F=>EF5= 45E>D<?F>D4< �$� 

�?4E<DV>4FVO >><?5F5=F=>EF5= 74 �$� �=4==O '<V==O �><G=V>4FVO �6F>=><VO F4 
6V4?>6V44?L=VEFL 

�474?L=V >><?5F5=F=>EFV 
��1. �44F=VEFL D54?V7G64F< E6>W ?D464 V >5>69O7>< O> G?5=4 
EGE?V?LEF64, GE6V4><?N64F< FV==>EFV 7D><44O=EL>>7> (6V?L=>7> 
45<>>D4F<G=>7>) EGE?V?LEF64 F4 =5>5EV4=VEFL =>7> EF4?>7> D>76<F>G, 
65DE>65=EF64 ?D464, ?D46 V E6>5>4 ?N4<=< V 7D><44O=<=4 6 '>D4W=V.  

+ +  + 

��2. �44F=VEFL 755DV74F< F4 ?D<<=>6G64F< <>D4?L=V, >G?LFGD=V, 
=4G>>6V FV==>EFV V 4>EO7=5==O EGE?V?LEF64 =4 >E=>6V D>7G<V==O VEF>DVW 
F4 74>>=><VD=>EF5= D>76<F>G ?D54<5F=>W >5?4EFV, WW <VEFO G 7474?L=V= 
E<EF5<V 7=4=L ?D> ?D<D>4G V EGE?V?LEF6> F4 G D>76<F>G EGE?V?LEF64, 
F5E=V>< V F5E=>?>7V=, 6<>>D<EF>6G64F< DV7=V 6<4< F4 D>D<< DGE>6>W 
4>F<6=>EFV 4?O 4>F<6=>7> 6V4?>G<=>G F4 6545==O 74>D>6>7> E?>E>5G 
6<FFO.  

+ + +  

��3. �44F=VEFL 74EF>E>6G64F< 7=4==O 6 ?D4>F<G=<E E<FG4FVOE.  + + +  
��4. �=4==O F4 D>7G<V==O ?D54<5F=>W >5?4EFV F4 D>7G<V==O 
?D>D5EV==>W 4VO?L=>EFV.  

 + +  

��5. �44F=VEFL 4> 444?F4FVW F4 4VW 6 =>6V= E<FG4FVW.  + + + + 
��6. �44F=VEFL ?D4FN64F< 6 >><4=4V F4 <4F< =46<G>< <V6>E>5<EFVE=>W 
674T<>4VW.  

 + + + 

��7. �44F=VEFL >FV=N64F< F4 74557?5GG64F< O>VEFL 6<>>=G64=<E D>5VF.  + +  + 
��8. �D47=5==O 4> 755D565==O =46>>?<L=L>7> E5D54>6<M4.  + +  + 
��9. �44F=VEFL 4> ?>LG>G, >5D>5?5==O F4 4=4?V7G V=D>D<4FVW 7 DV7=<E 
465D5?.  

+ +  + 

%?5FV4?L=V (D4E>6V) >><?5F5=F=>EFV 
$�1. �44F=VEFL 6<>>D<EF>6G64F< ?D>D5EV==V 7=4==O 6 74?G7V 
6<D>5=<FF64 V ?5D5D>5>< ?D>4G>FVW F64D<==<FF64 4?O 5D5>F<6=>7> 
6545==O 5V7=5EG.  

+ +   
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$�2. �44F=VEFL 6<>>D<EF>6G64F< EGG4E=V 7=4==O ?D> E?>E>5< 
6V4F6>D5==O, 74>>=><VD=>EFV V=4<6V4G4?L=>7> D>76<F>G F4 D>76545==O 
F64D<= 4?O 5D5>F<6=>W ?D>D5EV==>W 4VO?L=>EFV G 74?G7V F64D<==<FF64.  

+ +   

$�3 �44F=VEFL 6<>>D<EF>6G64F< 7=4==O 7 >E=>6=<E F5E=>?>7V= 
747>FV6?V, 6<D>5=<FF64 F4 755DV74==O >>D<V6 4?O D>D<G64==O 
>>D<>6>W 547< ?V4?D<T<EF64.  

+ +  + 

$�4. �44F=VEFL 4> E>?444==O D4FV>=V6 4?O DV7=<E 6<4V6 V EF4F56>-
6V>>6<E 7DG? F64D<= F4 >D74=V74FVW WE =>D<>64=>W 7>4V6?V 7 
GD4EG64==O< =4O6=<E DV=4=E>6<E F4 D5EGDE=<E >5<565=L.  

+ +  + 

$�5. �44F=VEFL 74EF>E>6G64F< 4>FV?L=V E<EF5<< F4 E?>E>5< 
GFD<<4==O EV?LEL>>7>E?>44DEL><E F64D<= V >>=FD>?N64F< F4 
>?F<<V7G64F< <V>D>>?V<4F F5E=>?>7VG=<E ?D<<VM5=L.  

+ +   

$�6. �44F=VEFL 74EF>E>6G64F< 547>6V 7=4==O 5>>=><V><, >D74=V74FVW F4 
<5=546<5=FG G 6<D>5=<FF6V F4 ?5D5D>5FV ?D>4G>FVW F64D<==<FF64.  

 +  + 

$�7. �44F=VEFL 74V=E=N64F< >>=FD>?L F5E=>?>7VG=<E ?D>F5EV6 ?V4 G4E 
6<D>5=<FF64 F4 ?5D5D>5>< ?D>4G>FVW E>>F4DEF64.  

+ + + + 

$�8. �44F=VEFL 74V=E=N64F< >>=FD>?L F5E=>?>7VG=<E ?D>F5EV6 ?V4 G4E 
6<D>5=<FF64 F4 ?5D5D>5>< ?D>4G>FVW E6<=4DEF64.  

+ + +  

$�9. �44F=VEFL 74V=E=N64F< >>=FD>?L F5E=>?>7VG=<E ?D>F5EV6 ?V4 G4E 
6<D>5=<FF64 F4 ?5D5D>5>< ?D>4G>FVW ?F4EV6=<FF64.  

+ +  + 

$�10. �44F=VEFL 74EF>E>6G64F< 7=4==O <>DD>?>7VW, DV7V>?>7VW F4 
5V>EV<VW DV7=<E 6<4V6 F64D<= 4?O D54?V74FVW 5D5>F<6=<E F5E=>?>7V= 
6<D>5=<FF64 V ?5D5D>5>< WE ?D>4G>FVW.  

+ +   
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